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@ § Tinh nhan tir cua da thire khoi

Tén: Ngay thang: Piém:
X+ 8% +20x + 48 X — 8% + 16x— 24

4P —14x—24 2% — 4x

X+ 6xF —25x+ 18 X = 6xF — 27x+ 140

X = 17x% + 87x— 135 X+ 3x* — 73x— 315

7x* — 49x 24x° + 26x% — 13x— 15
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Tinh nhan tir ciia da thirc khéi

Tén:

¥+ 8% +20x + 48
(x + 6)(% + 2x + 8)

X+ x° — l4x — 24
x+3)x—4)(x+2)

X+ 6x> —25x+ 18
x+9x—1)x—2)

X — 17 + 87x— 135
x—=5x—9)(x—3)

7 — 49x
Tx(x—17)

Ngay thang: Diém:

X — 8 + 16x— 24
(x — 6)(% — 2x + 4)

2% — 4x
2x(x — 2)

X — 6x> — 27x+ 140
x—=7Dx—4H(x+5)

X+ 3x> = 3x— 315
(x— 9+ 5)(x+7)

24x> + 26x — 13x— 15
(4x— 3)(x + 1)(6x + 5)
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